



Reverse Hölder Inequality and Fibonacci numbers

Anamarija Perušić Pribanić

ABSTRACT: In this paper we present reverse Hölder-type inequalities with power sums. We apply these results to sums involving Fibonacci numbers.

Key Words: Fibonacci sequence, Fibonacci identity, power sum, Hölder inequality.

Contents

1 Introduction	1
2 Reverse Hölder inequalities	2
3 Applications	7
4 Conclusion	9

1. Introduction

The well-known classical Hölder inequality can be stated as follows.

Theorem 1.1 ([6]) *Let $\mathbf{x} = (x_1, \dots, x_n), \mathbf{y} = (y_1, \dots, y_n) \in \mathbb{R}_+^n$.*

(i) *If $p > 1$ and $q = \frac{p}{p-1}$, then*

$$\sum_{i=1}^n x_i y_i \leq \left(\sum_{i=1}^n x_i^p \right)^{\frac{1}{p}} \left(\sum_{i=1}^n y_i^q \right)^{\frac{1}{q}}. \quad (1.1)$$

(ii) *If $0 < p < 1$ and $q = \frac{p}{p-1}$, then the reverse inequality holds in (1.1).*

The integral version of Hölder's inequality is the following.

Theorem 1.2 *Let f, g be positive continuous functions on $[a, b]$. If $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$, then*

$$\int_a^b f(x)g(x)dx \leq \left(\int_a^b f^p(x)dx \right)^{\frac{1}{p}} \left(\int_a^b g^q(x)dx \right)^{\frac{1}{q}}.$$

The Hölder inequality has been extensively studied by numerous researchers, and as a result, many of its generalizations and refinements have been obtained so far. See, for example [5,6,11] and the references therein.

In [11], the author gave the following integral reverses of Hölder's inequality:

Theorem 1.3 ([11]) *Let f and g be positive functions satisfying*

$$0 < m \leq f(x)g(x), \quad \forall x \in [a, b].$$

Let $p > 1, \frac{1}{p} + \frac{1}{q} = 1$. Then

$$\frac{\int_a^b f^p(x)dx \int_a^b g^q(x)dx}{\left(\int_a^b f^{pq}(x)dx \right)^{1/q} \left(\int_a^b g^{pq}(x)dx \right)^{1/p}} \leq \frac{1}{m} \int_a^b f(x)g(x)dx. \quad (1.2)$$

Theorem 1.4 ([11]) *Let f and g be positive functions satisfying*

$$0 < m \leq \frac{f(x)}{g(x)} \leq M, \quad \forall x \in [a, b].$$

Let $p > 0, q > 0$. Then

$$\left(\int_a^b f^p(x) dx \right)^{1/p} \left(\int_a^b g^q(x) dx \right)^{1/q} \leq \frac{M}{m} \left(\int_a^b (f(x)g(x))^{p/2} dx \right)^{1/p} \left(\int_a^b (f(x)g(x))^{q/2} dx \right)^{1/q}. \quad (1.3)$$

Recently, in [3] authors obtained a chain of inequalities for power sums using Hölder's and Cauchy's inequalities and their conversions. Motivated by their approach, in this paper we provide the discrete versions of Theorems 1.3 and 1.4, which we then use to derive a series of inequalities for power sums.

We use the following notation: for $\alpha \in \mathbb{R}$, $n \in \mathbb{N}$, and $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$ we denote

$$S_n^{[\alpha]}(\mathbf{x}) = \sum_{i=1}^n x_i^\alpha. \quad (1.4)$$

We will also use the following result:

Proposition 1.1 ([5]) *If $\alpha > \beta > 0$ then*

$$\left(S_n^{[\alpha]}(\mathbf{x}) \right)^{1/\alpha} \leq \left(S_n^{[\beta]}(\mathbf{x}) \right)^{1/\beta}. \quad (1.5)$$

2. Reverse Hölder inequalities

Theorem 2.1 *Let $\mathbf{x} = (x_1, \dots, x_n), \mathbf{y} = (y_1, \dots, y_n) \in \mathbb{R}_+^n$ and*

$$0 < m \leq x_i y_i, \quad i = 1, \dots, n.$$

Let $q > p > 0$. Then

$$\frac{\left(\sum_{i=1}^n x_i^p \right) \left(\sum_{i=1}^n y_i^q \right)}{\left(\sum_{i=1}^n x_i^{\frac{pq}{q-p}} \right)^{1-\frac{p}{q}} \left(\sum_{i=1}^n y_i^{\frac{q^2}{p}} \right)^{\frac{p}{q}}} \leq \frac{1}{m} \sum_{i=1}^n x_i y_i. \quad (2.1)$$

Proof:

$$\begin{aligned} \sum_{i=1}^n x_i^p &= \sum_{i=1}^n x_i^{\frac{p}{q}} y_i^{\frac{p}{q}} x_i^{p-\frac{p}{q}} y_i^{-\frac{p}{q}} \leq \left(\sum_{i=1}^n x_i y_i \right)^{\frac{p}{q}} \left(\sum_{i=1}^n x_i^{\frac{q}{q-p}(p-\frac{p}{q})} y_i^{-\frac{p}{q-p}} \right)^{\frac{q-p}{q}} \\ &\leq \left(\sum_{i=1}^n x_i y_i \right)^{\frac{p}{q}} \left(\sum_{i=1}^n x_i^{\frac{q}{q-p}(p-\frac{p}{q})} \left(\frac{x_i}{m} \right)^{\frac{p}{q-p}} \right)^{\frac{q-p}{q}} \\ &= \frac{1}{m^{\frac{p}{q}}} \left(\sum_{i=1}^n x_i y_i \right)^{\frac{p}{q}} \left(\sum_{i=1}^n x_i^{\frac{pq}{q-p}} \right)^{\frac{q-p}{q}} \end{aligned} \quad (2.2)$$

Similarly,

$$\begin{aligned} \sum_{i=1}^n y_i^q &= \sum_{i=1}^n x_i^{\frac{q-p}{q}} y_i^{\frac{q-p}{q}} y_i^{q-\frac{q-p}{q}} x_i^{-\frac{q-p}{q}} \leq \left(\sum_{i=1}^n x_i y_i \right)^{\frac{q-p}{q}} \left(\sum_{i=1}^n y_i^{\frac{q}{p}(q-\frac{q-p}{q})} x_i^{-\frac{q-p}{q}} \right)^{\frac{p}{q}} \\ &\leq \left(\sum_{i=1}^n x_i y_i \right)^{\frac{q-p}{q}} \left(\sum_{i=1}^n y_i^{\frac{q}{p}(q-\frac{q-p}{q})} \left(\frac{y_i}{m} \right)^{\frac{q-p}{p}} \right)^{\frac{p}{q}} \\ &= \frac{1}{m^{\frac{q-p}{q}}} \left(\sum_{i=1}^n x_i y_i \right)^{\frac{q-p}{q}} \left(\sum_{i=1}^n y_i^{\frac{q^2}{p}} \right)^{\frac{p}{q}} \end{aligned} \quad (2.3)$$

By multiplying (2.2) and (2.3), we obtain the desired result (2.1). Hence, the proof is complete. \square

Remark 2.1 *An analogous inequality holds for integrals.*

The following lemmas provide the discrete versions of inequalities (1.2) and (1.3).

Lemma 2.1 *Let $\mathbf{x} = (x_1, \dots, x_n)$, $\mathbf{y} = (y_1, \dots, y_n) \in \mathbb{R}_+^n$ and*

$$0 < m \leq x_i y_i, \quad i = 1, \dots, n.$$

Let $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$. Then

$$\frac{\left(\sum_{i=1}^n x_i^p\right) \left(\sum_{i=1}^n y_i^q\right)}{\left(\sum_{i=1}^n x_i^{pq}\right)^{1/q} \left(\sum_{i=1}^n y_i^{pq}\right)^{1/p}} \leq \frac{1}{m} \sum_{i=1}^n x_i y_i. \quad (2.4)$$

Proof: Similar to the proof of Theorem 2.1. First, we see that

$$\begin{aligned} \sum_{i=1}^n x_i^p &= \sum_{i=1}^n x_i^{\frac{1}{p}} y_i^{\frac{1}{p}} x_i^{p-\frac{1}{p}} y_i^{-\frac{1}{p}} \leq \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^{q(p-\frac{1}{p})} y_i^{-\frac{q}{p}}\right)^{\frac{1}{q}} \\ &\leq \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^{q(p-\frac{1}{p})} \left(\frac{x_i}{m}\right)^{\frac{q}{p}}\right)^{\frac{1}{q}} \\ &= \frac{1}{m^{\frac{1}{p}}} \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^{pq}\right)^{\frac{1}{q}} \end{aligned} \quad (2.5)$$

and

$$\begin{aligned} \sum_{i=1}^n y_i^q &= \sum_{i=1}^n x_i^{\frac{1}{q}} y_i^{\frac{1}{q}} y_i^{q-\frac{1}{q}} x_i^{-\frac{1}{q}} \leq \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{q}} \left(\sum_{i=1}^n y_i^{p(q-\frac{1}{q})} x_i^{-\frac{p}{q}}\right)^{\frac{1}{p}} \\ &\leq \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{q}} \left(\sum_{i=1}^n y_i^{p(q-\frac{1}{q})} \left(\frac{y_i}{m}\right)^{\frac{p}{q}}\right)^{\frac{1}{p}} \\ &= \frac{1}{m^{\frac{1}{q}}} \left(\sum_{i=1}^n x_i y_i\right)^{\frac{1}{q}} \left(\sum_{i=1}^n y_i^{pq}\right)^{\frac{1}{p}}. \end{aligned} \quad (2.6)$$

By multiplying (2.5) and (2.6), we obtain (2.4). \square

Lemma 2.2 *Let $\mathbf{x} = (x_1, \dots, x_n)$, $\mathbf{y} = (y_1, \dots, y_n) \in \mathbb{R}_+^n$ and*

$$0 < m \leq \frac{x_i}{y_i} \leq M, \quad i = 1, \dots, n. \quad (2.7)$$

Let $p > 0, q > 0$. Then

$$\left(\sum_{i=1}^n x_i^p\right)^{\frac{1}{p}} \left(\sum_{i=1}^n y_i^q\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n (x_i y_i)^{\frac{p}{2}}\right)^{\frac{1}{p}} \left(\sum_{i=1}^n (x_i y_i)^{\frac{q}{2}}\right)^{\frac{1}{q}}. \quad (2.8)$$

Proof: From the assumption (2.7), we have

$$m + 1 \leq \frac{x_i + y_i}{y_i} \leq M + 1, \quad i = 1, \dots, n \quad (2.9)$$

and

$$\frac{M + 1}{M} \leq \frac{x_i + y_i}{x_i} \leq \frac{m + 1}{m}, \quad i = 1, \dots, n. \quad (2.10)$$

The above inequalities imply

$$\begin{aligned} x_i &\leq \frac{M}{M + 1}(x_i + y_i), \quad y_i \leq \frac{1}{m + 1}(x_i + y_i) \\ x_i + y_i &\leq \frac{m + 1}{m}x_i, \quad x_i + y_i \leq (M + 1)y_i \\ (x_i + y_i)^2 &\leq \frac{(m + 1)(M + 1)}{m}x_i y_i. \end{aligned}$$

Now, from the last inequality, it follows that

$$\begin{aligned} \left(\sum_{i=1}^n (x_i + y_i)^p \right)^{\frac{1}{p}} &\leq \left(\frac{(m + 1)(M + 1)}{m} \right)^{\frac{1}{2}} \left(\sum_{i=1}^n (x_i y_i)^{\frac{p}{2}} \right)^{\frac{1}{p}} \\ \left(\sum_{i=1}^n (x_i + y_i)^q \right)^{\frac{1}{q}} &\leq \left(\frac{(m + 1)(M + 1)}{m} \right)^{\frac{1}{2}} \left(\sum_{i=1}^n (x_i y_i)^{\frac{q}{2}} \right)^{\frac{1}{q}}. \end{aligned}$$

Therefore, we have

$$\begin{aligned} \left(\sum_{i=1}^n x_i^p \right)^{\frac{1}{p}} \left(\sum_{i=1}^n y_i^q \right)^{\frac{1}{q}} &\leq \frac{M}{(M + 1)(m + 1)} \left(\sum_{i=1}^n (x_i + y_i)^p \right)^{\frac{1}{p}} \left(\sum_{i=1}^n (x_i + y_i)^q \right)^{\frac{1}{q}} \\ &\leq \frac{M}{m} \left(\sum_{i=1}^n (x_i y_i)^{\frac{p}{2}} \right)^{\frac{1}{p}} \left(\sum_{i=1}^n (x_i y_i)^{\frac{q}{2}} \right)^{\frac{1}{q}}. \end{aligned} \quad (2.11)$$

This completes the proof. \square

In the sequel, we derive a series of inequalities with power sums using the reverse Hölder inequalities from Theorem 2.1 and Lemmas 2.1 and 2.2.

Theorem 2.2 *Let $q > p > 0$ and $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$. If u and v are real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $m = \min_i \{x_i^\alpha\}$ then*

$$\frac{S_n^{[u]}(\mathbf{x}) S_n^{[v]}(\mathbf{x})}{\left(S_n^{\left[\frac{uq}{q-p} \right]}(\mathbf{x}) \right)^{1-\frac{p}{q}} \left(S_n^{\left[\frac{vq}{p} \right]}(\mathbf{x}) \right)^{p/q}} \leq \frac{1}{m} S_n^{[\alpha]}(\mathbf{x}). \quad (2.12)$$

Proof: We take the substitutions $x_i \rightarrow x_i^{u/p}$ and $y_i \rightarrow x_i^{v/q}$ in Theorem 2.1, whereby the inequality (2.1) is transformed into (2.12). Also, note that the condition $0 < m \leq x_i y_i$ is satisfied for $m = \min_i \{x_i^\alpha\}$ so inequality (2.12) holds. \square

Theorem 2.3 *Let $p > 1, q = \frac{p}{p-1}$, $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$ and $m = \min_i \{x_i^\alpha\}$.*

(i) Let $x_i \geq 1$, $i = 1, \dots, n$. If u and v are real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $0 < \alpha < \beta$ then

$$\begin{aligned} \frac{S_n^{[u]}(\mathbf{x}) S_n^{[v]}(\mathbf{x})}{\left(S_n^{[uq]}(\mathbf{x})\right)^{1/q} \left(S_n^{[vp]}(\mathbf{x})\right)^{1/p}} &\leq \frac{1}{m} S_n^{[\alpha]}(\mathbf{x}) \leq \frac{1}{m \cdot n^{\frac{\alpha}{\beta}-1}} \left(S_n^{[\beta]}(\mathbf{x})\right)^{\alpha/\beta} \\ &\leq \frac{1}{m} S_n^{[\beta]}(\mathbf{x}) \leq \frac{1}{m} \left(S_n^{[\alpha]}(\mathbf{x})\right)^{\beta/\alpha}. \end{aligned} \quad (2.13)$$

(ii) If u and v are real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $\alpha > \beta > 0$ then

$$\frac{S_n^{[u]}(\mathbf{x}) S_n^{[v]}(\mathbf{x})}{\left(S_n^{[uq]}(\mathbf{x})\right)^{1/q} \left(S_n^{[vp]}(\mathbf{x})\right)^{1/p}} \leq \frac{1}{m} S_n^{[\alpha]}(\mathbf{x}) \leq \frac{1}{m} \left(S_n^{[\beta]}(\mathbf{x})\right)^{\alpha/\beta}. \quad (2.14)$$

Proof:

(i) Taking substitutions $x_i \rightarrow x_i^{u/p}$ and $y_i \rightarrow x_i^{v/q}$ in Lemma 2.1 we observe that the condition $0 < m \leq x_i y_i$ is satisfied for $m = \min_i \{x_i^\alpha\}$, and the inequality (2.4) is transformed into

$$\frac{\left(\sum_{i=1}^n x_i^u\right) \left(\sum_{i=1}^n x_i^v\right)}{\left(\sum_{i=1}^n x_i^{uq}\right)^{1/q} \left(\sum_{i=1}^n x_i^{vp}\right)^{1/p}} \leq \frac{1}{m} \sum_{i=1}^n x_i^\alpha. \quad (2.15)$$

To obtain the desired inequalities, we first apply the reverse Jensen's inequality to the function $x \mapsto x^{\alpha/\beta}$, where $\alpha < \beta$, on the right-hand side of (2.15). Then, we use the monotonicity of the exponential function $x \mapsto b^x$, where $b = \frac{1}{n} \sum_{i=1}^n x_i^\beta \geq 1$, and finally apply inequality (1.5):

$$\begin{aligned} \frac{\left(\sum_{i=1}^n x_i^u\right) \left(\sum_{i=1}^n x_i^v\right)}{\left(\sum_{i=1}^n x_i^{uq}\right)^{1/q} \left(\sum_{i=1}^n x_i^{vp}\right)^{1/p}} &\leq \frac{1}{m} \sum_{i=1}^n x_i^\alpha = \frac{1}{m} \sum_{i=1}^n \left(x_i^\beta\right)^{\alpha/\beta} \leq \frac{n}{m} \left(\frac{1}{n} \sum_{i=1}^n x_i^\beta\right)^{\alpha/\beta} \\ &\leq \frac{1}{m} \sum_{i=1}^n x_i^\beta \leq \left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{\beta}{\alpha}}. \end{aligned} \quad (2.16)$$

(ii) Similar to the proof of (i), we apply Lemma 2.1 with substitutions $x_i \rightarrow x_i^{u/p}$ and $y_i \rightarrow x_i^{v/q}$, and then the moment inequality (1.5).

□

Theorem 2.4 Let u and v be real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$. Let $\mathbf{x} = (x_1, \dots, x_n) \in \mathbb{R}_+^n$, and let $m = \min_i \left\{x_i^{\frac{u}{p} - \frac{v}{q}}\right\}$, $M = \max_i \left\{x_i^{\frac{u}{p} - \frac{v}{q}}\right\}$.

(i) If $0 < p, q < 1$ then we have

$$\left(S_n^{[u]}(\mathbf{x})\right)^{\frac{1}{p}} \left(S_n^{[v]}(\mathbf{x})\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(S_n^{[\alpha p/2]}(\mathbf{x})\right)^{\frac{1}{p}} \left(S_n^{[\alpha q/2]}(\mathbf{x})\right)^{\frac{1}{q}} \leq \frac{M}{m} n^{\frac{1}{p} + \frac{1}{q} - 1} \left(S_n^{[\alpha]}(\mathbf{x})\right). \quad (2.17)$$

(ii) Let $x_i \geq 1$, $i = 1, \dots, n$. If $p, q \geq 1$ and $\alpha \geq 0$ then we have

$$\left(S_n^{[u]}(\mathbf{x})\right)^{\frac{1}{p}} \left(S_n^{[v]}(\mathbf{x})\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(S_n^{[\alpha p/2]}(\mathbf{x})\right)^{\frac{1}{p}} \left(S_n^{[\alpha q/2]}(\mathbf{x})\right)^{\frac{1}{q}} \leq \frac{Mn^2}{m} S_n^{[\alpha p]}(\mathbf{x}) S_n^{[\alpha q]}(\mathbf{x}). \quad (2.18)$$

Proof:

(i) By substituting $x_i \rightarrow x_i^{u/p}$ and $y_i \rightarrow x_i^{v/q}$ into Lemma 2.2, we observe that the condition $0 < m \leq \frac{x_i}{y_i} \leq M$ is satisfied for $m = \min_i \left\{x_i^{\frac{u}{p} - \frac{v}{q}}\right\}$ and $M = \max_i \left\{x_i^{\frac{u}{p} - \frac{v}{q}}\right\}$. With this substitution, inequality (2.8) becomes:

$$\left(\sum_{i=1}^n x_i^u\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^v\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n x_i^{\frac{\alpha p}{2}}\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^{\frac{\alpha q}{2}}\right)^{\frac{1}{q}}. \quad (2.19)$$

By applying Jensen's inequality to the functions $x \mapsto x^{p/2}$ and $x \mapsto x^{q/2}$ we obtain:

$$\sum_{i=1}^n (x_i^\alpha)^{\frac{p}{2}} \leq n^{1-\frac{p}{2}} \left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{p}{2}} \quad (2.20)$$

$$\sum_{i=1}^n (x_i^\alpha)^{\frac{q}{2}} \leq n^{1-\frac{q}{2}} \left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{q}{2}} \quad (2.21)$$

Using the monotonicity of the functions $x \mapsto x^{1/p}$ and $x \mapsto x^{1/q}$ we derive:

$$\left(\sum_{i=1}^n (x_i^\alpha)^{\frac{p}{2}}\right)^{\frac{1}{p}} \leq n^{\frac{1}{p}-\frac{1}{2}} \left(\left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{p}{2}}\right)^{\frac{1}{p}} = n^{\frac{1}{p}-\frac{1}{2}} \left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{1}{2}} \quad (2.22)$$

$$\left(\sum_{i=1}^n (x_i^\alpha)^{\frac{q}{2}}\right)^{\frac{1}{q}} \leq n^{\frac{1}{q}-\frac{1}{2}} \left(\left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{q}{2}}\right)^{\frac{1}{q}} = n^{\frac{1}{q}-\frac{1}{2}} \left(\sum_{i=1}^n x_i^\alpha\right)^{\frac{1}{2}} \quad (2.23)$$

Combining (2.19), (2.22) and (2.23) we obtain:

$$\left(\sum_{i=1}^n x_i^u\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^v\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n (x_i^\alpha)^{\frac{p}{2}}\right)^{\frac{1}{p}} \left(\sum_{i=1}^n (x_i^\alpha)^{\frac{q}{2}}\right)^{\frac{1}{q}} \leq \frac{M}{m} n^{\frac{1}{p}+\frac{1}{q}-1} \sum_{i=1}^n x_i^\alpha \quad (2.24)$$

Hence, (2.17) holds.

(ii)

$$\left(\sum_{i=1}^n x_i^u\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^v\right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n x_i^{\frac{\alpha p}{2}}\right)^{\frac{1}{p}} \left(\sum_{i=1}^n x_i^{\frac{\alpha q}{2}}\right)^{\frac{1}{q}} \quad (2.25)$$

$$\leq \frac{M}{m} \left(\sum_{i=1}^n x_i^{\frac{\alpha p}{2}}\right)^2 \left(\sum_{i=1}^n (x_i)^{\frac{\alpha q}{2}}\right)^2 \quad (2.26)$$

$$\leq \frac{Mn^2}{m} \sum_{i=1}^n x_i^{\alpha p} \sum_{i=1}^n x_i^{\alpha q} \quad (2.27)$$

First, we use (2.8) with substitutions $x_i \rightarrow x_i^{u/p}$, $y_i \rightarrow x_i^{v/q}$ to obtain (2.25). Then, in (2.26) we use the monotonicity of the exponential function $x \mapsto b^x$, $b = \sum_{i=1}^n x_i^{\alpha p/2} \geq 1$, for $\alpha \geq 0$. In (2.27) we use Jensen's inequality for the function $x \mapsto x^2$.

□

3. Applications

In this section, we apply the obtained results to the Fibonacci sequence to estimate the power sums of Fibonacci numbers.

The classical Fibonacci numbers are defined by the linear recurrence relation

$$F_0 = 0, F_1 = 1, F_n = F_{n-2} + F_{n-1}, \quad n = 2, 3, \dots$$

In the papers [1], [2], and [9], the following identity is given:

$$\sum_{i=1}^n F_i^2 = F_n F_{n+1}. \quad (3.1)$$

Using our notation, where $x_i = F_i$ for $i = 1, \dots, n$, identity (3.1) can be rewritten as:

$$S_n^{[2]}(\mathbf{x}) = F_n F_{n+1}. \quad (3.2)$$

By applying Theorem 2.3 with $x_i = F_i$, $\beta = 2$, and using the identity (3.2), along with the observation that the condition $x_i \geq 1$ holds for all i , we obtain the following theorem.

Theorem 3.1 *Let $p > 1$ and $q = \frac{p}{p-1}$.*

(i) *If u and v are real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $0 < \alpha < 2$ then*

$$\frac{\left(\sum_{i=1}^n F_i^u\right) \left(\sum_{i=1}^n F_i^v\right)}{\left(\sum_{i=1}^n F_i^{uq}\right)^{\frac{1}{q}} \left(\sum_{i=1}^n F_i^{vp}\right)^{\frac{1}{p}}} \leq \sum_{i=1}^n F_i^\alpha \leq \frac{1}{n^{\frac{\alpha}{2}-1}} (F_n F_{n+1})^{\alpha/2} \leq F_n F_{n+1} \leq \left(\sum_{i=1}^n F_i^\alpha\right)^{2/\alpha}. \quad (3.3)$$

(ii) *If u and v are real numbers such that $\alpha = \frac{u}{p} + \frac{v}{q}$ and $\alpha > 2$ then*

$$\frac{\left(\sum_{i=1}^n F_i^u\right) \left(\sum_{i=1}^n F_i^v\right)}{\left(\sum_{i=1}^n F_i^{uq}\right)^{\frac{1}{q}} \left(\sum_{i=1}^n F_i^{vp}\right)^{\frac{1}{p}}} \leq \sum_{i=1}^n F_i^\alpha \leq (F_n F_{n+1})^{\alpha/2}. \quad (3.4)$$

Furthermore, by applying Theorems 2.2 and 2.4 with $x_i = F_i$ and $\alpha = 2$, we obtain the following results.

Theorem 3.2 *Let $q > p > 0$. If u and v are real numbers such that $\frac{u}{p} + \frac{v}{q} = 2$ then*

$$\frac{\left(\sum_{i=1}^n F_i^u\right) \left(\sum_{i=1}^n F_i^v\right)}{\left(\sum_{i=1}^n F_i^{\frac{uq}{q-p}}\right)^{1-\frac{p}{q}} \left(\sum_{i=1}^n F_i^{\frac{vp}{p}}\right)^{p/q}} \leq F_n F_{n+1}. \quad (3.5)$$

Theorem 3.3 *Let u and v be real numbers such that $\frac{u}{p} + \frac{v}{q} = 2$, and let $m = \min_i \left\{ F_1^{\frac{u}{p}-\frac{v}{q}}, F_n^{\frac{u}{p}-\frac{v}{q}} \right\}$ and $M = \max_i \left\{ F_1^{\frac{u}{p}-\frac{v}{q}}, F_n^{\frac{u}{p}-\frac{v}{q}} \right\}$.*

(i) If $0 < p, q < 1$ then

$$\left(\sum_{i=1}^n F_i^u \right)^{\frac{1}{p}} \left(\sum_{i=1}^n F_i^v \right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n F_i^p \right)^{\frac{1}{p}} \left(\sum_{i=1}^n F_i^q \right)^{\frac{1}{q}} \leq \frac{M}{m} n^{\frac{1}{p} + \frac{1}{q} - 1} F_n F_{n+1}. \quad (3.6)$$

(ii) If $p, q \geq 1$ then

$$\left(\sum_{i=1}^n F_i^u \right)^{\frac{1}{p}} \left(\sum_{i=1}^n F_i^v \right)^{\frac{1}{q}} \leq \frac{M}{m} \left(\sum_{i=1}^n F_i^p \right)^{\frac{1}{p}} \left(\sum_{i=1}^n F_i^q \right)^{\frac{1}{q}} \leq \frac{Mn^2}{m} \left(\sum_{i=1}^n F_i^{2p} \right) \left(\sum_{i=1}^n F_i^{2q} \right) \leq \frac{Mn^4}{m} F_n^{2(p+q)}. \quad (3.7)$$

In [3], the authors studied power sums of Fibonacci numbers in cases where the exponents are distinct. For example, in the case when $\alpha = -1$ and $x_i = F_i F_{i+2}$ the following identity holds (see [4])

$$S_n^{[-1]}(\mathbf{x}) = 1 - \frac{1}{F_{n+1} F_{n+2}}. \quad (3.8)$$

In the case when $\alpha = 1$ and $x_i = F_i F_{i+2}$ we have

$$\begin{aligned} S_n^{[1]}(\mathbf{x}) &= \sum_{i=1}^n F_i F_{i+2} = \sum_{i=1}^n F_i (F_i + F_{i+1}) = \sum_{i=1}^n F_i^2 + \sum_{i=1}^n F_i F_{i+1} \\ &= F_n F_{n+1} + F_{n+1}^2 - \frac{1 + (-1)^n}{2} = F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2}. \end{aligned} \quad (3.9)$$

By using (3.8) and (3.9) we obtain the following theorem.

Theorem 3.4 *Let $p > 1$. Then the following statements hold:*

(i) If $\beta > 1$, then

$$\begin{aligned} & \frac{\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)}{\left(\sum_{i=1}^n (F_i F_{i+2})^{\frac{2p^2-p}{p-1}} \right)^{\frac{p-1}{p}} \left(\sum_{i=1}^n (F_i F_{i+2})^{-p} \right)^{\frac{1}{p}}} \leq \frac{1}{2} \left(F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \right) \\ & \leq \frac{1}{2 \cdot n^{\frac{1}{\beta}-1}} \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{\frac{1}{\beta}} \leq \frac{1}{2} \sum_{i=1}^n (F_i F_{i+2})^\beta \leq \frac{1}{2} \left(F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \right)^\beta. \end{aligned} \quad (3.10)$$

(ii) If $\beta < 1$, then

$$\begin{aligned} & \frac{\sum_{i=1}^n (F_i F_{i+2})^{2p-1} \left(1 - \frac{1}{F_{n+1} F_{n+2}} \right)}{\left(\sum_{i=1}^n (F_i F_{i+2})^{\frac{2p^2-p}{p-1}} \right)^{\frac{p-1}{p}} \left(\sum_{i=1}^n (F_i F_{i+2})^{-p} \right)^{\frac{1}{p}}} \leq \frac{1}{2} \left(F_{n+1} F_{n+2} - \frac{1 + (-1)^n}{2} \right) \\ & \leq \frac{1}{2} \left(\sum_{i=1}^n (F_i F_{i+2})^\beta \right)^{\frac{1}{\beta}}. \end{aligned} \quad (3.11)$$

Proof: Take $x_i = F_i F_{i+2}$ for $i = 1, \dots, n$, $\alpha = 1$, and $v = -1$ in Theorem 2.3 and use identities (3.8) and (3.9). \square

4. Conclusion

In this paper, we obtained new inequalities for power sums using reverse Hölder inequalities. We have shown that, by applying Theorems 2.2, 2.3 and 2.4, along with identity (3.2) related to Fibonacci numbers, a series of inequalities can be derived. Additionally, we present identities found in [4], [7], [8] and [10] that can be used in a similar way:

for $i = 1, \dots, n$,

$$\begin{aligned}
 x_i &= F_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{n+2} - 2, \\
 x_i &= F_{2i-1}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}, \\
 x_i &= F_{2i}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n+1} - 1, \\
 x_i &= iF_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{n+2} - F_{n+3} + 2, \\
 x_i &= F_i F_{3i}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_n F_{n+1} F_{2n+1}, \\
 x_i &= F_i F_{i+1}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{n+1}^2 - \frac{1 + (-1)^n}{2}, \\
 x_i &= F_{4i-2}, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}^2, \\
 x_i &= \binom{n}{i} F_i, \quad \beta = 1, \quad S_n^{[1]}(\mathbf{x}) = F_{2n}, \\
 x_i &= F_i, \quad \beta = 6, \quad S_n^{[6]}(\mathbf{x}) = \frac{1}{4}(F_n^5 F_{n+3} + F_{2n}), \\
 x_i &= F_i, \quad \beta = 3, \quad S_n^{[3]}(\mathbf{x}) = \frac{1}{10}(F_{3n+2} - (-1)^n 6F_{n-1} + 5),
 \end{aligned}$$

$$\text{for } i = 1, \dots, 2n+1, \quad x_i = F_i \sqrt{\binom{2n+1}{i}}, \quad \beta = 2, \quad S_{2n+1}^{[2]}(\mathbf{x}) = 5^n F_{2n+1}.$$

References

1. H. Alzer, F. Luca, *An inequality for the Fibonacci numbers*, Math. Bohem. 147, 587-590, (2022).
2. H. Alzer, M. K. Kwong, *Extension of an Inequality for Fibonacci Numbers*, Integers 22, Paper No. A85, (2022).
3. A. Dujella, J. Jakšetić, J. Pečarić, *Fibonacci numbers and Hölder inequality*, Bull. Transilv. Univ. Brasov Ser. III, to appear.
4. R. P. Grimaldi, *Fibonacci and Catalan numbers*, John Wiley & Sons, Inc., Hoboken, NJ, (2012).
5. G. H. Hardy, J. E. Littlewood, G. Polya, *Inequalities*, 2nd ed. Cambridge Univ. Press, (1934).
6. D. S. Mitrinović, J. E. Pečarić, A. M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic, Dordrecht, (1993).
7. M. Nagy, S. R. Cowell, V. Beiu, *Survey of Cubic Fibonacci Identities When Cuboids Carry Weight*, International Journal of Computers Communications & Control, 17(2), (2022).
8. H. Ohtsuka, S. Nakamura, *A new formula for the sum of the sixth powers of Fibonacci numbers*, Congressus Numerantium, Proceedings of the thirteenth conference on Fibonacci numbers and their applications 201, 297–300, (2010).
9. P. G. Popescu, J. L. Díaz-Barrero, *Certain inequalities for convex functions*, J. Inequal. Pure Appl. Math. 7(2), Article 41, (2006).
10. K. G. Recke, *Problem B - 153*, The Fibonacci Quarterly, 7(3) (1969).
11. W. T. Sulaiman, *Reverses of Minkowski's, Hölder's, and Hardy's Integral Inequalities*, International Journal of Modern Mathematical Sciences, 1(1), 14–24, (2012).

Anamarija Perušić Pribanić,

Faculty of Civil Engineering,

University of Rijeka,

Croatia.

E-mail address: anamarija.perusic@uniri.hr